

698 Morgantown Rd Franklin KY 42134 Phone: (270) 586-3443

Emergency: 1-888-281-9133

Fax: (270) 393-2615

RECEIVED

FEB 2 1 2014

PUBLIC SERVICE COMMISSION

February 17, 2014

Mr. Jeff Derouen, Executive Director Executive Director, Public Service Commission PO Box 615 / 211 Sower Blvd. Frankfort, KY 40602

RE: Case #

Gas Cost Adjustment Report

Dear Mr. Derouen:

The following document is Millennium Energy's Gas Cost Adjustment Report for the quarter of April 1, 2014 to June 30, 2014.

Sincerely,

Wayne Goodrum

fuf bood

Manager

QUARTERLY REPORT OF GAS COST RECOVERY RATE CALCULATION

Date Filed:	1-Mar-14			
**************************************				***************************************
Date Rates to b	e Effective:	April 1, 2	014 TO June 30, 2014	
Reporting Perio	od is Calendar Qua	rter Ended:	November 1, 2013 TO January 31, 2014	

SCHEDULE I GAS COST RECOVERY RATE SUMMARY

Component	<u>Unit</u>	<u>Amount</u>
Expected Gas Cost (EGC)	\$/Mcf	5.682498
+ Refund Adjustment (RA)	\$/Mcf	_
+ Actual Adjustment (AA)	\$/Mcf	0.2756
+ Balance Adjustment (BA)	\$/Mcf	0.0064
= Gas Cost Recovery Rate (GCR)	\$/Mcf	5.96449
GCR to be effective for service rendered from:	I-01-14 TO 06-30-14	
A. EXPECTED GAS COST CALCULATION	<u>Unit</u>	Amount
Total Expected Gas Cost (Schedule II)	\$	636,108.46
+ Sales for the 12 months ended 1/31/2014	Mcf	111,941.70
- Expected Gas Cost (EGC)	\$/Mcf	5.682498
B. REFUND ADJUSTMENT CALCULATION	<u>Unit</u>	<u>Amount</u>
Supplier Refund Adjustment for Reporting Period (Sch. III)) \$/Mcf	\$ -
+ Previous Quarter Supplier Refund Adjustment	, \$/Mcf	\$ -
+ Second Previous Quarter Supplier Refund Adjustment	\$/Mcf	\$ -
+ Third Previous Quarter Supplier Refund Adjustment	\$/Mcf	\$ -
= Refund Adjustment (RA)	\$/Mcf	\$ - \$ -
C. ACTUAL ADJUSTMENT CALCULATION	<u>Unit</u>	<u>Amount</u>
Actual Adjustment for the Reporting Period (Schedule IV)	\$/Mcf	\$ 0.3733
+ Previous Quarter Reported Actual Adjustment	\$/Mcf	\$ (0.1113)
+ Second Previous Quarter Reported Actual Adjustment	\$/Mcf	\$ (0.0285)
+ Third Previous Quarter Reported Actual Adjustment	\$/Mcf	\$ 0.0421
=Actual Adjustment (AA)	\$/Mcf	\$ 0.2756
D. BALANCE ADJUSTMENT CALCULATION	<u>Unit</u>	Amount
Balance Adjustment for the Reporting Period (Schedule V) \$/Mcf	\$ 0.000653
+ Previous Quarter Reported Balance Adjustment	\$/Mcf	\$ (0.002071)
+ Second Previous Quarter Reported Balance Adjustment	\$/Mcf	\$ 0.003818
+ Third Previous Quarter Reported Balance Adjustment	\$/Mcf	\$ 0.004026
=Balance Adjustment (BA)	\$/Mcf	\$ 0.0064

Page 2 GCA 04-01-14.xls

E)	LE II AS COST			Appendix B Page 3			
Actual* Mcf Purchase for 12 months end	ed		01/31/14			-	
(1)	(2)	(3) Heat	(4)	(5)	(6) (2) x (5)		
Supplier	<u>Dth</u>	Rate	<u>Mcf</u>	Rate	Cost		
Feb-13 Utility Gas Management	12,479.00	1.0275	12,145.01	5.5900	69,757.61		
Mar-13 Utility Gas Management	13,364.00	1.0299	12,976.02	5.5900	74,704.76		
Apr-13 Utility Gas Management	10,287.00	1.0382	9,908.97	5.5900	57,504.33		
May-13 Utility Gas Management	8,631.00	1.0380	8,315.03	5.5900	48,247.29		
Jun-13 Utility Gas Management	5,920.00	1.0470	5,654.25	5.5900	33,092.80		
Jul-13 Utility Gas Management	5,477.00	1.0442	5,245.16	5.5900	30,616.43		
Aug-13 Utility Gas Management	5,376.00	1.0463	5,138.11	5.5900	30,051.84		
Sep-13 Utility Gas Management	5,116.00	1.0514	4,865.89	5.5900	28,598.44		
Oct-13 Utility Gas Management	6,510.00	1.0500	6,200.00	5.5900	36,390.90		
Nov-13 Utility Gas Management	9,444.00	1.0446	9,041.00	5.5900	52,791.96		
Dec-13 Utility Gas Management	13,216.00	1.0432	12,669.00	5.5900	73,877.44		
Jan-14 Utility Gas Management	17,974.00	1.0405	17,275.00	5.5900	100,474.66		
Totals	113,794.00	1.0398	109,433.45	5.5900	636,108.46		
Line losses are	-2.29%	for 12 months ended	1/31/2014 }	oased on pur	chases of		
109,433.45 Mcf and sales of		111,941.70	Mcf.	_			
				!	<u>Unit</u>	<u>Am</u>	ount
Total Expected Cost of Purchases (6) (to Schedule IA)		9	\$	\$	636,108.46
Expected Mcf Purchases (4)		·)			т Mcf	Ψ	109,433.45
= Average Expected Cost Per Mcf Purc	hased				\$/Mcf	<u></u>	5.8127
Plus: Expected Losses of	nascu	(not to exceed 5%)	(D)(6/0.05) :	line loss > 5%	•	Ф	5.8127
= Total Expected Gas Cost		(HOL TO CACCED 3 76)	•	J33 if line loss)		\$	636,108.46
Tom Experior Ous Cost			(332*.	iss ii iiie ioss) i	Ψ	Ф	030,100.40

^{*}Or adjusted pursuant to Gas Cost Adjustment Clause and explained herein.

Allowable Sales (maximum losses of 5%).

636,108.46

^{**}Supplier's tariff sheets or notices are attached.

SCHEDULE III SUPPLIER REFUND ADJUSTMENT

Details for the 3 months ended

1/31/2014

Particulars Total supplier refunds received + Interest	<u>Unit</u> \$ \$	<u>Am</u> \$ \$	<u>ount</u> - -
Refund Adjustment including interest+ Sales for 12 months ended 1/31/2014	\$ Mcf	\$	- 111,942
=Supplier Refund Adjustment for the Reporting Period (to Schedule IB.)	\$/Mcf	\$	-

SCHEDULE IV ACTUAL ADJUSTMENT

Appendix B Page 5

For the 3 month period ended _____ 1/31/2014

<u>Particulars</u> Total Supply Volumes Purchased Utility Gas Management	<u>Unit</u> Mcf	Мо	onth 1 <u>Nov-13</u> 9,041.00	Моі	nth 2 <u>Dec-13</u> 12,669.00		nth 3 <u>Jan-14</u> 17,275.00
Total Cost of Volumes Purchased	\$	\$	38,495.21	\$	56,142.24	\$	102,637.44
Total Sales (may not be less than 95% of supply volumes) (G8*0.95)	Mcf		9,942.70		12,035.55		16,514.20
= Unit Cost of Gas	\$/Mcf	\$	3.8717	\$	4.6647	\$	6.2151
- EGC in effect for month	\$/Mcf	<u>\$</u>	3.9921	<u>\$</u>	3.9921	<u>\$</u>	4.1022
= Difference [(Over-)/Under-Recovery]	\$/Mcf	\$	(0.1204)	\$	0.6726	\$	2.1129
x Actual sales during month	Mcf		9,942.70		12,025.50		16,514.20
= Monthly cost difference	\$		(1,197.04)		8,088.35		34,892.89
Total cost difference (Month 1 + Month 2 + Mon	nth 3)	<u>Un</u> \$	<u>ìt</u>	<u>Am</u> \$	<u>ount</u> 41,784.19		
+ Sales for 12 months ended 1/31/2014		Mo	rf		111,942		
= Actual Adjustment for the Reporting Period (to Schedule IC.)		\$/N	Иcf	\$	0.3733		

SCHEDULE V BALANCE ADJUSTMENT

Appendix B Page 6

For the 3 month period ended

1/31/2014

Line	Particulars	Unit	Amount
	Utility Gas Management		
(1)	Total cost difference from actual adjustment used to compute		
	AA of the GCR effective four quarters prior to the effective date of		
1	the currently effective GCR.	\$	7,259.79 Case No. 2012-00522
2 Less:	Dollars amount resulting from the AA of 0.0642 \$/MCF		
	as used to compute the GCR in effect four quarters prior to the effective		
	date of the currently effective GCR times the sales of 111,942		
3	MCF during the 12 month period the AA was in effect.	\$	7,186.66
4 Equals:	Balance Adjustment for the AA.	\$	73.13
(3)	Total Supplier Refund Adjustment including interest used to		
	compute RA of the GCR effective four quarters prior to the effective		
5	date of the currently effective GCR.	\$	-
6 Less:	Dollar amount resulting from the RA of\$/MCF		
	as used to compute the OCR in effect four quarters prior to the		
	effective GCR times the sales of 111,942 MCF		
7	during the 12 month period the RA was in effect.	\$	
8 Equals:	Balance Adjustment for the RA.	\$	-
(3)	Total Balance Adjustment used to compute RA of the GCR effective four		
9	quarters prior to the effective date of the currently effective GCR.	\$	-
10 Less:	Dollar amount resulting from the BA of - \$/MCF		
	four quarters prior to the effective date of the currently effective		
	GCR times the sales of 111,942 MCF during the 12 month		
11	period the BA was in effect.	\$	-
12 Equals:	Balance Adjustment for the BA.	\$	
13	Total Balance Adjustment Amount (1) + (2) + (3)	\$	73.13
14 Divided By:	Sales for 12 months ended 1/31/2014	\$	111,942
15 Equals:	Balance Adjustment for the Reporting Period (to Schedule ID).	\$/MCF	0.000653

FOR ENTIRE AREA SERVED P.S.C. KY. NO. 1st SHEET NO. Canceling P.S.C. KY NO. SHEET NO.

Millennium Energy, Inc.

RULES AND REGULATIONS

Gas Cost Adjustment Clause

The rates authorized herein are based upon the wholesale cost of gas to Millennium Energy, inc. as computed using rates of its wholesale suppliers currently in effect. In the event there is an increase or decrease in wholesale gas cost Millennium shall file with this Commission the following information within 30 days:

- 1. A copy of the contract or wholesale supplier notification effecting the change in rate and a statement relative to the effective rate of such proposed change.
- 2. A statement setting out gas sales for the most recent 12 months.
- 3. A statement setting out the details of gas purchased for the most recent 12 months showing billing from the supplier(s) under the most recent rate(s) and under the proposed supplier rate. The difference between the amounts so determined shall be divided by Millennium's sales for the most recent 12 months, provided Millennium's line loss for the same 12 month period does not exceed 5%. If line loss exceeds 5%, the difference shall be divided by allowable sales calculated as (purchases x .95).
- 4. A signed and dated tariff sheet showing Millennium's proposed rates for service based on the change in supplier rate. An increase in rates shall not be effective with less than 30 days notice unless a waiver is requested and granted.
- 5. Such other information as this Commission may request for a proper determination of the purchased gas adjustment.

In the event that Millennium receives from its supplier a refund, bill adjustment or credit of amounts paid to such supplier in respect of a prior period, Millennium will apply to the Commission within 30 days for authority to make adjustments on the rates charged to its customers under this provision as follows:

1. The "refundable amount" shall be the amount received by Millennium as a refund. Each refundable amount shall be divided by the Mcfs of gas that Millennium estimates it will sell to its customers during the four month period commencing with the first day of the month following receipt of the refunds, thus determining a "refund adjustment"

DATE OF ISSUE 3-1-14 DATE EFFECTIVE MONTH DAY YEAR

SIGNED BY: fw bond President NAME OF OFFICER TITLE

ADDRESS

FOR _	ENTIR	<u>RE AREA SEF</u>	RVED	
P.S.C.	KY. NO.	1		
1st		SHEET NO.	8	
Cance	ling P.S.C	. KY NO		
		SHEET NO.		

Millennium Energy, Inc. RULES AND REGULATIONS

- 2. Upon commission approval, Millennium will reduce by the calculated factor any purchased gas adjustment that would otherwise be applicable during such period.
- 3. In the event of any large or unusual refund, Millennium may apply to the commission for the right to depart from the refund procedure herein set forth.
- 4. If the cause for the usage deviation cannot be determined from analysis of the customer's meter reading and billing records, the Company will contact the customer by telephone or in writing to determine whether there have been changes such as different number of household members or work staff, additional or different appliances, changes in business volume, or known leaks in the customer's service line.
- 5. Where the deviation is not otherwise explained, the Company will test the customer's meter to determine whether it shows an average error greater than 2 percent fast or slow.
- 6. The Company will notify the customers of the investigation, its findings, and any refunds or back billing in accordance with 807 KAR 5:006, Section 10 (4) and (5).

In addition to the annual monitoring, the Company will immediately investigate usage deviations brought to its attention as a result of its on going meter reading or billing processes or customer inquiry.

Upon receipt of the required information, the Commission shall review the proposed increase, reduction, or refund and, within 30 days from receipt of the information required, issue its Order setting out the proper revised rates or otherwise acting to investigate or suspend the proposed rates.

DATE OF ISSUE 3-1-14	DATE EFFECTIVE	April 1, 2014	
MONTH DAY	YEAR		•
SIGNED BY: IW GOO	President		

TITLE

ADDRESS

NAME OF OFFICER

MILLENNIUM ENERGY Purchased Gas Adjustment Calculation [1]

Line	Wholesale	Purchased Gas (@ Delivery Point)							
No	Supplier	Month	Amount	Quantity	Heat Rate	Quantity	Avg. Rate		
			(\$)	(decatherms)	(dt/mcF)	(mcF)	\$/mcF		
	(a)	(b)	(c)	(d)	(e)	(f)	(g)		
1	Utility Gas Management	Feb-13	46,001.17	12,479.00	1.0275	12,145.01	3.79		
2	Utility Gas Management	Mar-13	52,870.12	13,364.00	1.0299	12,976.02	4.07		
3	Utility Gas Management	Apr-13	45,515.82	10,287.00	1.0382	9,908.97	4.59		
4	Utility Gas Management	May-13	39,270.59	8,631.00	1.0380	8,315.03	4.72		
5	Utility Gas Management	Jun-13	27,548.73	5,920.00	1.0470	5,654.25	4.87		
6	Utility Gas Management	Jul-13	22,357.72	5,477.00	1.0442	5,245.16	4.26		
7	Utility Gas Management	Aug-13	20,971.60	5,376.00	1.0463	5,138.11	4.08		
8	Utility Gas Management	Sep-13	20,179.96	5,116.00	1.0514	4,865.89	4.15		
9	Utility Gas Management	Oct-13	25,300.04	6,510.00	1.0500	6,200.00	4.08		
10	Utility Gas Management	Nov-13	38,495.21	9,444.00	1.0446	9,041.00	4.26		
11	Utility Gas Management	Dec-13	56,142.24	13,216.00	1.0432	12,669.00	4.43		
12	Utility Gas Management	Jan-14	102,637.44	17,974.00	1.0405	17,275.00	5.94		
	Total		497,290.64	113,794.00	1.0398	109,433.45	4.54		

^[1] Losses are based on a 12-month moving average.

MILLENNIUM ENERGY Purchased Gas Adjustment Calculation [1]

Wholesale	Monthly Gas Sales			12-Mo	nths Gas Tota	Recovery Rate		
Supplier	Quantity	Losses	Avg. Rate	Purchases	Sales	Losses	Cost	Rate
	(mcF)	(%)	(\$/mcF)	(mcF)	(mcF)	(%)	(\$)	(\$/mcF)
(a)	(h)	(i)	(j)	(k)	(I)	(m)	(n)	(o)
Utility Gas Management	11,513.80	5.20%	4.00	12,145.01	11,514	5.20%	46,001	4.00
Utility Gas Management	12,414.70	4.33%	4.26	25,121.03	23,929	4.75%	98,871	4.13
Utility Gas Management	9,547.70	3.65%	4.77	35,030.00	33,476	4.44%	144,387	4.31
Utility Gas Management	8,223.30	1.10%	4.78	43,345.03	41,700	3.80%	183,658	4.40
Utility Gas Management	6,683.90	-18.21%	4.12	48,999.28	48,383	1.26%	211,206	4.37
Utility Gas Management	7,341.70	-39.97%	3.05	54,244.44	55,725	-2.73%	233,564	4.19
Utility Gas Management	5,138.00	0.00%	4.08	59,382.55	60,863	-2.49%	254,536	4.18
Utility Gas Management	4,866.00	0.00%	4.15	64,248.44	65,729	-2.30%	274,716	4.18
Utility Gas Management	7,730.20	-24.68%	3.27	70,448.44	73,459	-4.27%	300,016	4.08
Utility Gas Management	9,942.70	- 9.97%	3.87	79,489.44	83,402	-4.92%	338,511	4.06
Utility Gas Management	12,025.50	5.08%	4.67	92,158.45	95,428	-3.55%	394,653	4.14
Utility Gas Management	16,514.20	<u>4.40</u> %	6.22	109,433.45	111,942	- <u>2.29</u> %	497,291	<u>4.44</u>
Total	111,941.70	- 2.29%	4.44	109,433.45	111,941.70	-2.29%	497,291	4.44

^[1] Losses are based on a

Meador, Wendy

From:

Ron Ragan < ron@utilitygas.com>

Sent:

Monday, February 10, 2014 2:30 PM

To:

Meador, Wendy; Goodrum, Wayne

Subject:

Estimated Billed Prices

Wendy,

Here are the estimated cost of gas prices for APR-JUN

Apr 14 - \$5.55 May 14 - \$5.20

Jun 14 - \$5.15

Sincerely.

Ron Ragan

Utility Gas Management

Cell (913) 515-2994

Office (913) 938-5260

Fax (913) 938-5261

Email - ron@utilitygas.com

web - www.utilitygas.com



